STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

ID/IQ PROPOSAL – EMERGENCY ADDENDUM 1

DATE AND TIME OF BID OPENING: NOVEMBER 1, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D2.8000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTY:

BUNCOMBE, MADISON & YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION:

DISTRICT 2 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT SURFACE TREATMENT

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

EMERY SEALCO, INC.

NAME OF BIDDER

P.O. BOX 814 ARUEN, NC 78704

ADDRESS OF BIDDER

D13POC.D2.8000.01 District 2 Wide

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: D13POC.D2.8000.01

TIP Number:

N/A

FA Number:

Tropical Storm Helene

WBS Element:

Various

Description:

Emergency On-Call Asphalt Surface Treatment

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1	535	Conditioning Existing Base	4	MSY	5,500.00	22,000.00
2	545	Incidental Stone Base	250	TON	50.00	12,500.00
3	SP	Asphalt Surface Treatment, Mat & Single Seal - Case 1 (under 2500 SY)	5000	SY	10.25	51,250.00
4	SP	Asphalt Surface Treatment, Mat & Single Seal- Case 2 (over 2500 SY)	10000	SY	8.25	82,500.00
5	SP	Asphalt Surface Treatment, Mat & Double Seal- Case 1 (under 2500 SY)	5000	SY	11.50	57,500.00
6	SP	Asphalt Surface Treatment, Mat & Double Seal - Case 2 (over 2500 SY)	10000	SY	9.50	95,000.00
7	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	2,800.00	28,000.00
8	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	2,800.00	56,000.00
9	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	2,800.00	14,000.00
10	SP	Additional Flaggers	100	HR	35.00	3,500.00
11	1205	Paint Pavement Marking Lines, 4"	5000	LF	5.75	28,750.00

TOTAL BID FOR PROJECT: \$ 451,000.00

Contractor: EMERY SEALCO,	FNC.				
Mailing Address: P.O. BOX 814 ARD	EN, NC 28704				
Phone: 828 - 684 - 114 6	Federal ID: 56 14 13 119				
Contractor License Number (If Available): 65832					
Authorized Agent: CHAD EMERY Title: V.P.					
Contact Email: Chade emergseales. con					
Signature Manuelly	Date:				

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

ID/IQ PROPOSAL – EMERGENCY ADDENDUM 1

DATE AND TIME OF BID OPENING: NOVEMBER 1, 2024 AT 2:00 PM

CONTRACT ID: D13POC.D2.8000.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTRY DUNCO

COUNTY: BUNCOMBE, MADISON & YANCEY

TIP NO.: N/A

*MILES: N/A

ROUTE NO.: VARIOUS PRIMARY & SECONDARY ROUTES

LOCATION: DISTRICT 2 WIDE

TYPE OF WORK: EMERGENCY ON-CALL ASPHALT SURFACE TREATMENT

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NA POLIN

Russell Standard

NAME OF BIDDER

171 Seventh Avenue, Valencia PA 16059

ADDRESS OF BIDDER

D13POC.D2.8000.01 District 2 Wide

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

D13POC.D2.8000.01

TIP Number:

N/A

FA Number:

Tropical Storm Helene

WBS Element:

Various

Description:

Emergency On-call Asphalt Surface Treatment

ITEM	SECT	DESCRIPTION	QTY.	UNIT	UNIT PRICE	AMOUNT BID
1 .	535	Conditioning Existing Base	4	MSY	\$3,000.000	\$12,000.00
2	545	Incidental Stone Base	250	TON	\$215.000	\$53,750.00
3	SP	Asphalt Surface Treatment, Mat & Single Seal - Case 1 (under 2500 SY)	5000	SY	\$37.250	\$186,250.00
4	SP	Asphalt Surface Treatment, Mat & Single Seal- Case 2 (over 2500 SY)	10000	SY	\$23.250	\$232,500.00
5	SP	Asphalt Surface Treatment, Mat & Double Seal- Case 1 (under 2500 SY)	5000	SY	\$39.250	\$196,250.00
6	SP	Asphalt Surface Treatment, Mat & Double Seal - Case 2 (over 2500 SY)	10000	SY	\$25.500	\$255,000.00
7	SP	Temporary Lane Closure (2-Way Undivided Roadway)	10	EA	\$8,250.000	\$82,500.00
8	SP	Temporary Lane Closure (Multi-Lane Divided Roadway)	20	EA	\$9,500.000	\$190,000.00
9	SP	Temporary Lane Closure Shift (Multi- Lane Divided Roadway)	5	EA	\$8,750.000	\$43,750.00
10	SP	Additional Flaggers	100	HR	\$90.000	\$9,000.00
11	1205	Paint Pavement Marking Lines, 4"	5000	LF	\$6.550	\$32,750.00

TOTAL BID FOR PROJECT: \$1,293,750.00

District 2 Wide

Contractor: Russell Standard	
Mailing Address: 171 Seventh Avenue, Valencia	PA 16059
Phone: 724-625-1505	Federal ID: 25-0947393
Contractor License Number (If Available):_	99682
Authorized Agent: Mike Rowe	Title:Townstant Preservation
Contact Email: estimating@russellstand	ard.com
Signature:	Date: 11/01/2024

SEAL